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aa+d a+2d a+3d
=15° 15°+ 50°, 15°+ 2 x 50°, 15 + 3 x 50°
=[15°, 657, 115°, 165°| P
35. | 30T Jearegs T0eFTNY WReRoDd TOTTBI), IFCL
RTRHCT FOTBOHLRBOWD ¢
x+y=4
x+2y==6
Q30
x+y=4
X O 4 1 2
iy 4 & a 2
x+2y=6
% 1ole |4d
¥y [3fo |2
: F ﬁ:
e
i
BReRE CWS 1+1
VOTONGY, MOTOER TTYTeASNIRO, 2PT0[TO 1
¢eQROT/ WOTONTR), MITOER x R y W& WIARIFT0 1
TS CRJYTRETR  BOINFCDL  WOTONTI) W
ROYTenIRY 2FedwTOT. 4
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36. | 300 m ©03TTHTOE FTRD FHeT RREPTNT AR SOT

Boed 08B, Foden Bt BEFPTFTTQUD FTL A0AER
RReQYIR BDONGR), QegAcwR, wPYRY ©[ST  ERIND
U, 2rEOATTOZ 60° B 30° 20 FoBRWSS.
BRr Reeyon B 500 m R0F U HeeRTs TT BB
BOTTO* R0 SUIDT oW WFTT THH IBONT BT
1003 m &338, w8 RReRH0E HZ0RY FOBEWBOWD.

(V3 = 1-73 20w 3ricodey)

Eat H Q
< = 5

&0 30

¥

A

500 m

h

b B [
> 100Vs me D
F—300 m «——

Q3o
F ‘, H O
60° 30
o
M 30 P
60° G
A 7 Ic
200 m
B )
F> 10085 wed G D

— 300 m ——
AN, MC 383 NE N9s), Keda
ZAHP= LHAN = 60° (Ro33Fod greansd)
ZCHQ = £ZHCM = 30° (Bo3ns o 3pesned) Ya
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T TIOTT IO, TR

0T

AAHN 39,

tan 60°= 2N

AN

__HN_
10043

AN =BG=100J3 m

HN =100J3 x /3

=100 x 3

HN=300m

GD = 300-100+/3
= 10043 (V/3-1)
A HMC 8¢

HM
MC
1 HM

B 100R(3-1)

HM =100(V3 -1)

tan 30° =

100(1-73-1)

100 x 0-73

HM=73m

MN= HN- HM

=300-73

MN=227m

. W8 RACFHTT 2T =

AB=DE=DC-CE

= 500 - 227

AB=273m
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Q30
B

A Df—[ C Yo
&2 : AABC o9 /B = 90° Yy
WPJecty : AC? = AB? + BC? Vs
0233 : Draw AD 1 BC Yo
TS ¢ AADB ~ AABC

L4848 (b IRnm3ngs)

ABP = AC A i (1) Yy

ABDC ~ AABC

CD _BC

BC AC

BC?=AC.CD ..o, 2) Vs
(1) &3 (2) B, BRBRRT00s

AB?+ BC?=AC.AD+AC.CD Vs

= AC(AD+CD)
= AC. AC

AB?+ BC?=AC? Va

Zeds : WI,WRTEOTOR DR, WA FOKIRT HUSTII,
4

a'céaz% &) peaE e_eoﬁmfsgt NETRBOTTD.
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38. | 20w AV0BOI PIPUFY LOW JoBIT PIFOWT 5 OFE
JZTNG. JoBoaT TTT &%, TR %38 2ZTN 330N
7 em O 25 cm 9N, AO0BOT FITTFT WP 14 cm
38, & AQ0BOT PTFL W) msgsr Boedd | asﬁmrwa’%
FORO&LEOWD.
Qgo:
BoBONT ST 2T (h) = ,/ 12152 Yo
= y25%-7%
= J625-49 Yo
= J576
=24 cm Yo
JoBORT PIFPO = %mjh Yo
=l>< 2>< ,7’><Tr'><2%’-lr
B o
= 1232 cc Yo
ADOBOT PIPO =5 x 0T PIFO
= 5% 1932 Va
= 6160 cc
AOOBT'S 3, = 14 cm AOOBT'S PIPO = 6160 cc
- AO0TOT FIFO = nroh Ya
6160:2—72x14x14xh
gLt 1
h=222==10 cm o
+ AO0BOT TBF Boeg | DREF (A) = 2nrh Ya
_2x 22, 10
A
= 880 cm ? Yo 5
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